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(C)3x42y—1=0 (D)3x—2y+6=0

14. ¥ 2% y* = 4x SRR s H B 61 I BESE 90°JF , BT B A & 7 7 R ( )
(A) (x+1)2=4(y—1) (B) (x+1)*=—4(y—1)

(©)(x—1)2=4(y+1) (D) (x—1)?=—4(y+1)

15. % a,b R H HL, T 5 HA M

(DEAEa,b EHEE—R P, —EWFEL 5 a.b K
OEAEab EHERE—R P, —EWEEL ] 5 a.b HEE
(DEARTE a.b EMEE—R P, —E W EFHE o 5 a.b HBFFT
(OHEARFE a.b EHER—R P, —EWFEEL 5 a.b #FAT

HPIEfaBH I BEC D
(A0 (Bi1
©2 (D)3

16. WU LA Je A B2 DU BB 1, JUE DA 22 88 5 A A S A
il



R SRR AR R P R R TR AERC )
(A)p= (Bp=

2—cosf 2—cosf

2—-cosf

17 B4 EH y =log, [ax*+(a—Dx+ 1052 B — P10, MK 2 9 B4 3 A

( )

Ay3= «/?<a<3+ v'5

2 2
(B)o<a<%
(C)a<3_f§2 a>3+£/?
(D)S_f<a<1
£21% JE % B4
ZHTE.

18. EL 401 :sinf : smi—8 5, ] cosf=
19. #FH & sinx+cosx=K , £ 0<x<r P HEFH®, BHJ K WRELER .
20. HMRlm [ vI+2+3+-++n— vIF2+3+-F@—D]=

21 AR (P —1) V2 Fx—xX >0 RER .
22. B 6B, HEAL B BEB3BBLE, XXUR—H, FEARARASENFER

23. & (7%? ——-) RIFXFEH ¥ YA, ﬁUE?ﬁﬁnBﬁﬁfJ\{E%_—_

E\mgmﬁ
24. B &1 :x=sin?18°+cos?36°,
R (1—20) W1

25. FERR KN 2 WY IE 7 & ABCD—A,B,C,D, #,E,F 4} 5|2 AB.AD #y+ 5,3t EF &
M EFG 3 AA, F G, H5EHE R 60°# T 4,
KB G—AEF ff&

1 3 i
26. B :Sn=1+——+——+cee 4 —— N
" V2 /3 «/?(ne Hn>D

KIE: vn<S.<2 vn
27 B%ﬂgﬁ 21,2, ﬁ/@ Zf_zlzz+zg=01(zl ° 22?50),% Zz=1+mi’ﬂ ) E‘Jﬁﬁi{ﬁ

K B SR m A
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